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1. 33 64,494,000 |1. AtSiH| 35,809,356
7t dutS A F 5,290,000 7} AFiQIZ4H| 19,735,354
L A== 4,790,000 (1) 7|EFAFR Q1A H| 3,240,000
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3. § S Xt 1,200,000 (3) Rl Z ALEHH| 290,370
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(2) d=2te|H| 220,000




3) SulH| 38,665

(4) Q124H] 257,235

(5) 2|2|H] 114,000

(6) 2R ZH| 290,330

(7) ==& gH| 70,535

(8) =2| 2 4H| 58,100

9) XF=++8 20,540

(10) Ly 9,000

(11) &34 11,290

2| 2 H|(Q1Z4H]) 6,034,777

1) =9 5,150,000

(2) ElZ50 429,167

(3) ACHEH 455,610

szax 4,014,110

@ o xl=a 2,400,000

@ o== 1,546,790

3) 7|EtM == 67,320

2 +=AA 68,688,790 et 7| x| = A| 49,147,938
HEo¥EF 32,777,779 Koy 2 52,318,631
s A 101,466,569 5 A 101,466,569




O SE=S A

L
2017 108
(EH2: &)
Xt S

=N a5 =4
15,509,888 |1. MIE{X|S ALYH]| 1,749,960
35,023,250 7b. | 1,587,830
Lt. Chopy| 162,130
2. mMER =2 3 TIdH| 340,000
7b. M| 340,000
3. X| = 104,720
7h SIER| | 78,720
Lt. 3|02 SH| 26,000
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